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2) GENERAL
PROBLEM

This large object does

not fit through this

small aperture. k ﬂ =

This satellite image file
is too large to send to a

special operations /
soldier in Afghanistan ”
using the very limited %S k
bandwidth available.
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Use smaller versions of object.

Use larger apertures.

Divide large object into pieces.

Use multiple apertures.

2. General Problem
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Allow soldier to request small
image chips of specific areas
rather than entire satellite
image.
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3. General Solution

START HERE

1. Specific Problem

4. Specific Solution
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